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% g R - KSR Bifr B 2 B i & B W =
BRI 2,420, 800 2,420, 800
EEAGE 2,420, 800
ERE 2,420,800 x 100% 2,420, 800
BT EFRE (2,420,800 + 2,420,800) x 20% 968, 320
ES AT 2,420,800 + 2,420,800 + 968, 320 5,809, 920
HETREALE 5,809,920 x 10.00% 580, 992
EBEREN 5,809,920 + 580, 992 6,390,912
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=
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2 MR TEDRET 1.00 71, 200 71,200
=
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=
=R AT 1,068, 000
4 MR FMRET 1.00 890, 000 890, 000
=
5 {rRERETEID KR ET 1.00 178, 000 178, 000
=
RETRIEERK 534, 000
6 FRETRIEERL 1.00 534, 000 534, 000
=
BEER 142, 400
T BERREER 1.00 142, 400 142, 400
=
e - W& 106, 800
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12 £BTRBEER 1.00 178, 000 178, 000
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HEm (C) B
A 25.00 35, 600. 00 890, 000
& i 1EZBERN - 1.00 890, 000. 00 890, 000




Rifiz -/ \v7r—o

THSEEFR - BRERRISEEM MRS

5:5
2% REETEO®E 1XEY
2 b g - BIRTE By = B ) # " =
HEm (C) B
A 5.00 35, 600. 00 178, 000
& i EZBER - 1. 00 178, 000. 00 178, 000
5:6
ZF5 : BRETREER 1XEY
2 b g - BIRTE By = B ) # " =
HEm (C) B
A 15.00 35, 600. 00 534, 000
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